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a very colorful proof !
and dramatic too : friends foes
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Let e > o be arbitrary .
How far is guy from L ?
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We know that
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How to make sure that Hex) -2K E ?
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How to make sure that 1hm -LKE ?
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How to have both ?

Just take oclx-akmiufdtcel.IM.
This tells me that Ican take

Egle> = min { feel, dice, Yo }red = green



Now prove : oqx-akwiuhftkydacel.no}
⇒ Ig Cx) - Lk E&

.
thenProof . Assume .

Os IX
.

- a) coffee) and Ock
-akda and xc-fe-no.ee/0Gaxgj

,

c ④
Assays . He r HIV

Hex) - LICE, '
-

and 1h KI-LK E and fcxkgtx.dk,

-

.

. X
-Es -tha -LK fix -LI GW- L flexi

- Ls that -LI SE

ridged -Es gas- L C E ⇒ lglxthke



Scissors squeeze
A- h

"LE
AXE (a - no , a) hlxkgcxkfcxyffxctqai.no/fkHgAkkky



Power of the squeeze Thru-
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